Argon gas at atmospheric pressure and 20.0°C is confined in a 1.00-m3 vessel. The effective hard-sphere diameter of the argon atom is 3.10 X 10-10 m. (a) Determine the mean free path [image: image1.emf] . (b) Find the pressure when [image: image2.emf] = 1.00 m. (c) Find the pressure when [image: image3.emf] = 3.10 X 10-10 m
SOLUTION 
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3. Taking P/, from (a) and with £ =100 m, we find

()  Equation (1) shows that Pfy =

(1.00 atm)(9.36 107 m)

P, 93610 atm

2 100m
(© For £3=3.10x10" m, we have
(100 atm)(9.36 107 m)

Py 302 atm




